% Bu dokiimandaki tim uriin agiklamalari, parga numaralar ve veriler sadece bilgi amagchdir. All
product descriptions, part number and data included in this document are used for information

__?»

K
RODRUNNER

STEERING & SUSPENSION PARTS

www.rodrunnerparts.com




2
= RODRUNNER

RODRUNNER REF NO: TC-B-228
Control Arm and Ball Joint

(&w u

NS

Weight: 1,848 Length: 475,8 Bolt Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION
74 G29 2019- Front Right
Lower

RODRUNNER REF NO: TC-B-229

Control Arm and Ball Joint

-

o S [
S “,_,e;:‘v
o

Weight: 1,848 Length: 475,8 Bolt Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION

Front Left

Z4 G29 2019-
Lower

March 2025

ADAPTABLE  BMW

OEM NO
31106878588

ADAPTABLE  BMW

OEM NO
31106878587



2
> NODRUNNER

RODRUNNER REF NO: BJ-BY-104K
Ball Joint Kit

b
4

Weight: 0,774 Length: 88,4 Bolt Metric: M14X1,5
MODEL NO BODY YEAR

ATTO 3 2022-

RODRUNNER REF NO: BJ-BY-104K
Ball Joint Kit

Weight: 0,774 Length: 88,4 Bolt Metric: M14X1,5
MODEL NO BODY YEAR

DOLPHIN 2021-

DIRECTION

Front

March 2025

ADAPTABLE BYD

OEM NO
SC2E-2904500A

ADAPTABLE BYD

DIRECTION

Front

OEM NO
SC2E-2904500A



2
> NODRUNNER

RODRUNNER REF NO: LS-CH-156

March 2025

ADAPTABLE CHEVROLET

Stabilizer Bar Link W/Off Road Package

i
i
""H

Weight: 0,602 Length: 195 Bolt Metric: M12X1,75
MODEL NO BODY YEAR

SILVERADO 1500 T1XX 2019-

RODRUNNER REF NO: LS-CH-156

DIRECTION OEM NO

Front 85590925, 84718747

ADAPTABLE GMC

Stabilizer Bar Link W/Off Road Package

i
i
"'H

Weight: 0,602 Length: 195  Bolt Metric: M12X1,75
MODEL NO BODY YEAR

SIERRA 1500 T1XX 2020-

DIRECTION OEM NO

Front 85590925, 84718747




2
> NODRUNNER

RODRUNNER REF NO: BJ-CY-114K
Ball Joint Kit

LA
%

Weight: 0,75 Length: 90,5 Bolt Metric: M14X1,5
MODEL NO BODY YEAR

OMODA 5 2022-

RODRUNNER REF NO: TR-FO-311
Tie Rod End

1«‘ (3

March 2025

DIRECTION

Front

OEM NO
202000469AA

ADAPTABLE FORD

Weight: 0,824 Length: 201  Bolt Metric: M12X1,75 Housing Metric: M14X1,5

MODEL NO BODY YEAR
BRONCO U725 2021-

DIRECTION

Front Right

OEM NO
MB3Z3A130A



_\?)> e T: Eog
A NOORUNNER e\ March 2025

RODRUNNER REF NO: TR-FO-312
Tie Rod End

F.r/t '

Weight: 0,824 Length: 201  Bolt Metric: M12X1,75 Housing Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

BRONCO U725 2021- Front Left MB3Z3A1308
RODRUNNER REF NO: BJ-H-124 ADAPTABLE HONDA
Ball Joint Hatchback / Type R

e

Weight: 0,432 Length: 92,5 Bolt Metric: M14X1,5
MODEL NO BODY YEAR DIRECTION OEM NO

ClviCc FC/FK 2016-2021 Front Lower 51220T6A306




2
> NODRUNNER

RODRUNNER REF NO: LS-LA-286
Stabilizer Bar Link

; «@!

Weight: 0,68 Length: 175 Bolt Metric: M14X2
MODEL NO BODY YEAR

RANGE ROVER SPORT L461 2022-

RODRUNNER REF NO: LS-LA-286
Stabilizer Bar Link

!-’ «@!

Weight: 0,68 Length: 175  Bolt Metric: M14X2
MODEL NO BODY YEAR

RANGE ROVER L460 2022-

March 2025

ADAPTABLE | AND ROVER

DIRECTION

Front

OEM NO
LR173205

ApAPTABLE | AND ROVER

DIRECTION

Front

OEM NO
LR173205



2
> NODRUNNER

RODRUNNER REF NO: TC-M-198
Lateral Arm

S

Weight: 0,484 Length: 238,5
MODEL NO BODY YEAR

C-CLASS W206 2021-

RODRUNNER REF NO: TC-M-198

Lateral Arm

Weight: 0,484  Length: 238,5
MODEL NO BODY YEAR

GLC-CLASS X254/C254 2022-

March 2025

ADAPTABLE MERCEDES

DIRECTION

Rear Upper
Forward

OEM NO

A2063501600, 2063501600

ADAPTABLE MERCEDES

DIRECTION

Rear Upper
Forward

OEM NO

A2063501600, 2063501600



2
> NODRUNNER

RODRUNNER REF NO: TC-M-198

Lateral Arm

Weight: 0,484 Length: 238,5
MODEL NO

CLE-CLASS

BODY

YEAR

2023-

RODRUNNER REF NO: TC-M-198

Lateral Arm

Weight: 0,484  Length: 238,5
MODEL NO BODY

E-CLASS w214

YEAR
2023-

March 2025

ADAPTABLE MERCEDES

DIRECTION

Rear Upper
Forward

OEM NO

A2063501600, 2063501600

ADAPTABLE MERCEDES

DIRECTION

Rear Upper
Forward

OEM NO

A2063501600, 2063501600



2
> NODRUNNER

RODRUNNER REF NO: TC-M-238
Control Arm and Ball Joint

Weight: 2,306 Length: 417  Bolt Metric: M16X1,5
MODEL NO BODY YEAR

E-CLASS w214 2023-

RODRUNNER REF NO: TC-M-239

Control Arm and Ball Joint

Weight: 2,306 Length: 417  Bolt Metric: M16X1,5
MODEL NO BODY YEAR

E-CLASS w214 2023-

March 2025

ADAPTABLE MERCEDES

DIRECTION

Front Right
Lower

OEM NO

A2143305800, 2143305800

ADAPTABLE MERCEDES

DIRECTION

Front Left
Lower

OEM NO

A2143305700, 2143305700



S RODRUNNES March 2025

STEERING & SUSPENSION PARTS

RODRUNNER REF NO: AJ-N-113
Tie Rod Ext. Cab

. ——

Weight: 0,568 Length: 198 Bolt Metric: M14X1,5 Housing Metric.: M16X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

FRONTIER D41 2022- Front D8E21EB70A
RODRUNNER REF NO: BJ-N-924 ADAPTABLE NISSAN
Ball Joint

Weight: 0,536 Length: 93,8 Bolt Metric: M14X1,5
MODEL NO BODY YEAR DIRECTION OEM NO

NV-SERIES F80 2012-2021 Front Upper 54524E750C*, 54525EZ50C*




= RODRUANER March 2025

STEERING & SUSPENSION PARTS

RODRUNNER REF NO: BJ-N-924 ADAPTABLE NISSAN
Ball Joint

Weight: 0,536 Length: 93,8 Bolt Metric: M14X1,5

MODEL NO BODY YEAR  DIRECTION OEM NO
TITAN AB1 2016- Front Upper ~ 54524EZ50C*, 54525E250C*
RODRUNNER REF NO: AJ-SU-673 ADAPTABLE. SUBARU
Tie Rod AWD

‘q.——--

Weight: 0,554 Length: 301  Bolt Metric: M14X1,5 Housing Metric: M18X1,5
MODEL NO BODY YEAR DIRECTION OEM NO

LEGACY BL/BP 2003-2008 Front 34160AG0O0A



2
> NODRUNNER

RODRUNNER REF
Tie Rod

‘h_ -

Weight: 0,554 Length: 301
MODEL NO

OUTBACK

NO: AJ-SU-673
AWD

March 2025

ADAPTABLE  SUBARU

Bolt Metric: M14X1,5 Housing Metric: M18X1,5

RODRUNNER REF NO: TC-SU-818

Control Arm and Ball Joint

Weight: 2,912 Length: 266,5
MODEL NO

FORESTER

COMPONENTS
&

i)

o
-~

BODY YEAR DIRECTION
BL/BP 2003-2009 Front
BODY YEAR DIRECTION
SH 2009-2013  FrontRight
Upper
NUMBER NAME DIRECTION
Control Arm
BC-SU-BS036 Bushing Rear Upper
BC-SU-BS037 | Control Arm Rear Upper

Bushing

OEM NO
34160AG0O0A

ADAPTABLE SUBARU

OEM NO

20252S5C000, 20252AL02A,
20252AJ02A

OEM NO

202525G001*,20252SG011*,
20252SC000*,20252SC010*

20252SG001*,20252SG011%,
20252SC000*,20252SC010*


Control Arm 
   Bushing


Control Arm 
   Bushing

Rear Upper

Rear Upper

20252SG001*,20252SG011*,
20252SC000*,20252SC010*

20252SG001*,20252SG011*,
20252SC000*,20252SC010*


B | Warch 2025

ST RODRUNNER
RODRUNNER REF NO: TC-SU-819

Control Arm and Ball Joint

Weight: 2,912 Length: 266,5
MODEL NO BODY YEAR DIRECTION OEM NO
Front Left 20252SC010, 20252AJ03A
FORESTER SH 2009-2013 ’ ’
ORES Upper 20252AL03A
COMPONENTS NUMBER NAME DIRECTION OEM NO
& Control Arm Rear U 202525G001*,20252SG011*,
] BC-SU-BS036 |~ gyshing ear-pper 20252SC000* 202525C010*
o Sl Control Arm Rear U 20252SG001*,20252SG011*,
~ BC-SU-BS037 Bushing ear Cppet 20252SC000*,20252SC010*

ADAPTABLE \/OLVO

RODRUNNER REF NO: TC-VO-938
Chassis no: 790797 /

Lateral Arm
793709
Weight: 3,624 Length: 561
MODEL NO BODY YEAR DIRECTION OEM NO
2008-2016 Rear Lower 31429120

XC60 /


Control Arm 
   Bushing

Control Arm 
   Bushing

Rear Upper

Rear Upper

20252SG001*,20252SG011*,
20252SC000*,20252SC010*

20252SG001*,20252SG011*,
20252SC000*,20252SC010*


S RODRUNNES = March 2025

STEERING & SUSPENSION PARTS

RODRUNNER REF NO: TC-V0O-938 ADAPTABLE  \/OL VO
Lateral Arm Chassis no: 790797 /

793709

Weight: 3,624 Length: 561

MODEL NO BODY YEAR DIRECTION OEM NO
XC70 3rd Gen 2007-2016 Rear Lower 31429120
RODRUNNER REF NO: TC-VO-938 W o RVe
Lateral Arm Chassis no: 790797 /
793709

S—

Weight: 3,624 Length: 561
MODEL NO BODY YEAR DIRECTION OEM NO

V60 1st Gen 2011-2018 Rear Lower 31429120



S RODRUNNER & March2025

RODRUNNER REF NO: TC-V0O-938 ADAPTABLE  \/OL VO
Lateral Arm Chassis no: 790797 /

793709

Weight: 3,624 Length: 561
MODEL NO BODY YEAR DIRECTION OEM NO

S60 2nd Gen 2010-2018 Rear Lower 31429120






